ECO PLATFORM

EPD

VERIFIED

ENVIRONMENTAL
PRODUCT
DECLARATION

PORCELAIN STONEWARE
CERAMIC SLABS

= 6 MM

STONEPEAK CERAMICS INC.
CROSSVILLE SITE, TN - U.S.A.




-LAII\] STONEWARE CERAMIC SLABS = 6 mm | Crossville Plant, TN - U.S.A.

FRTHAIM EPD

INTERNATIONAL EPD SYSTEM

STONEPE2AK

HIGH TECH PORCELAIN

A BRAND OF sfe IRIS
\'/ CERAMICA

GROUP



qumvm EPD

INTERNATIONAL EPD SYSTEM

Programme Programme operator address Web site E-mail

The International EPD® System, EPD International AB www.environdec.com support@environdec.com
www.environdec.com Box 210 60, 100 31
Stockholm, Sweden

PCR 2019:14 Construction products, version 2.0.1 - UN CPC Code
3732

C-PCR-002 Ceramic tiles (EN 17160:2019), version 2025-04-08
C-PCR: Ceramic Tiles, c-PCR-002, version 1.0.0

Independent third-party
verification of the declaration o EPD process certification (Internal)

and data, according to & EPD verification (External)

ISO 14025:2006

Procedure for follow-up of data
during EPD validity involves third
party verifier

The EPD owner has the sole ownership, liability, and responsibility for the EPD.

EPDs within the same product category but published in different EPD programmes, may not be comparable. For two
EPDs to be comparable, they shall be based on the same PCR (including the same firstdigit version number) or be
based on fully aligned PCRs or versions of PCRs; cover products with identical functions, technical performances and
use (e.g. identical declared/functional units); have identical scope in terms of included lifecycle stages (unless the
excluded lifecycle stage is demonstrated fo be insignificant); apply identical impact assessment methods (including
the same version of characterisation factors); and be valid at the time of comparison.

For further information about comparability, see EN 15804 and ISO 14025.




OWNER OF THE EPD
Stonepeak Ceramics Inc., 720 N Franklin St Suite 500, Chicago IL 60654, US

COMPANY PROFILE

Stonepeak Ceramics, nestled in the rolling hills of Tennessee, embodies the perfect blend of
ltalion design heritage and American manufacturing excellence. As a subsidiary of Iris Ceramica
Group—global leader in high-end ceramic surfaces— Stonepeak proudly stands as the first U.S.
manufacturer to produce large-format porcelain slabs.

With over 60 years of history from Iris Ceramica Group, Stonepeak shares the Group's core
values of sustainability, innovation, and excellence in quality. This commitment drives ongoing
research and development, taking porcelain surfaces fo new heights according to the Group's
vision:

Re-engineering ceramics fo improve the inferaction between people and the environment.
Stonepeak’s state-ofthe-art production facility in Crossville, Tennessee, is the only one in the

United States capable of manufacturing porcelain slabs in thicknesses ranging from émm to
2cm and in sizes from expansive 120"x60" panels to smaller 12"x12" files.

This unique capability allows Stonepeak to deliver versatile, highly customizable solufions for
floors, walls, custom furnishings, countertops and other architectural surfaces—meeting the

aesthetic and functional needs of architects, designers, and clients alike.

Every product is crafted in accordance with the highest standards and current regulations, en-
suring exceptional performance and disfinctive style for residential, commercial, and industrial
applications.

From raw material preparation fo the final finishing stage, the entire production process covered

by this EPD takes place at our manufacturing facility in Crossville, Tennessee, located at 238
Porcelain Tile Drive, Crossville, TN 38555, United States.

qumvm EPD

INTERNATIONAL EPD SYSTEM




ENVIRONMENTAL PRODUCT DECLARATION | Stonepeak Ceramics

PRODUCTION SITE

From raw material preparation fo the final finishing stage, the entire production process covered
by this EPD takes place at our manufacturing facility in Crossville, Tennessee.

Crossville, TN - 238 Porcelain Drive, Crossville, TN 38555, United States
R . . :
S @
PpC) (27 %.h.f,,,d e St
terey S 7 e S ¢ N
Eg:k“ f{ ;f %
. e aaed / Obed Wild >~
% @ f And Scenic ”,_
“'q / S~ b, . River—
| § \ [ prEases ~—
\\Q 1 e Catoosa
. t / wildlife
Ny, Il | M
W, thdy { anagement
1 N % ° Bowman f Area
WILTSHIRE
Fairfield Glade

o

N\
By
“=Crabi@rchard
s
Ty

Pleasant Hill_

— -
White Oak
Forest s
West Mill
FAIRYLAND @
E_Jﬂmk
& “5%
' =
o ANTANA mLDl'rLUM \
L %
Lake Tansi | L
WINNEBAGD ¥ 1
susbivision \
127

PORCELAIN STONEWARE CERAMIC SLABS = é mm | Crossville Plant, TN - U.S.A.

————
.

FRTHAI\M EPD

INTERNATIONAL EPD SYSTEM

COMPANY INFORMATION

PRODUCT-RELATED OR MANAGEMENT RELATED CERTIFICATIONS

Stonepeak holds a wide range of cerfifications and memberships that reflect its ongoing com-
mitment to excellence in environmental sustainability, product quality, and indusiry leadership.

Environmental certifications demonstrate the adoption of responsible practfices aimed af reduc-
ing environmental impact, while quality standards ensure compliance with fechnical specifica-

tions and the reliable performance of the materials supplied.
These recognitions form a key element in Stonepeak’s corporate strategy, supporting customer
needs, strengthening partnerships, and promoting the protection of the environment.

Stonepeak’s production process has also obtained the following cerfifications, thanks fo the

organisation and rigorous periodic inspections of its industrial processes:

- UNIEN ISO 14064-1: Corporate Carbon Footprint
- UNIEN ISO 9001: Quality Management System
- LEED: Leadership in Energy and Envrionmental Design (ISO 14021): Recycled material content

Lanicing

- DECLARE LABEL - Red List Free: Material Transparency and Traceability Program

Shady Grove
- HPD: Health Product Declaration
- Green Squared (G2): Sustainability and Performance Certification for Ceramic Products

GREEN
MEMBER

SQUARED

- USGBC Member: Member of the U.S. Green Building Council
- UL GREENGUARD Gold: Low Chemical Emissions Certification for Indoor Air Quality

USGBC

1SO 14064-1
17336282 of 10/07/2024
ssued by

CERTIFIED
150 9001
BUREAU VERITAS
Certification

inion
ted by
e calendar year 2023.

CONTACTS
For more information on Iris Ceramica Group or about this EPD, you can contact

Sustainability Dept. - Iris Ceramica Group

EUREKA

Phone number: +39 0536 819611 - email: sustainabiliy@icgmail.com
Alternatively, the following sites can be consulted: www.irisceramicagroup.com & www.stonepeakceramics.com
Address and confact information of the LCA practitioner commissioned by the EPD owner, if applicable:

Benedetta Becchi — Benedetta.Becchi@alfa-solutions. it
Alessandro Rocca — Alessandro.Rocca@coll.alfa-solutions. it



qumvm EPD

INTERNATIONAL EPD SYSTEM

PRODUCT NAME

Porcelain stoneware ceramic slabs: thickness Gmm

PRODUCT IDENTIFICATION

This EPD includes materials consisting of porcelain stoneware slabs—floor and wall surfaces,
furniture, Countertops and tables, under the Stonepeak Ceramics brand—characterized by a
thickness of & mm.

PRODUCT DESCRIPTION

Stonepeak manufacturers largeformat porcelain slabs and traditional tile formats engineered
for superior performance across a wide range of architectural applications.

The products covered by this Environmental Product Declaration (EPD) are manufactured in thick-
nesses of & mm, and are suitable for use in residential, commercial, and public spaces. They
can be installed across numerous applications, including indoor and outdoor flooring, wall
coverings, counterfops, tabletops, custom furnishings, and other architectural surfaces.

Stonepeak porcelain solutions are recognized for their exceptional durability, offering resistance
fo wear, scratches, chemicals, stains, thermal shock, and UV exposure. Their non-porous sur-
face makes them easy fo clean and maintain, supporting hygienic environments by minimizing
dirt and bacteria buildup. Additionally, the products confribute to improved indoor air quality
and are UL GREENGUARD Gold certified for low chemical emissions.

Designed for versatility, Stonepeak products are available in an extensive range of colors,
patterns, finishes, and surface fextures. This variety allows seamless integration info diverse ar
chitectural and interior design styles—from timeless and understated to bold and confemporary

Stonepeak products are suitable for all building types when installed in accordance with Stone-
peak technical guidelines and best practices.

Manufactured through advanced processes—including careful raw material selection, pressing,
highemperature firing, and refined surface finishing— Stonepeak porcelain ensures consistent
quality, longterm performance, and alignment with sustainable production standards.

UN CPC CODE

3732 Bricks, blocks, files and similar refractory ceramic constructional goods, other than
those of siliceous earths

GEOGRAPHICAL SCOPE
Global




ENVIRONMENTAL PRODUCT DECLARATION | Stonepeak Ceramics PRODUCT INFORMATION

FRTHANM EPD

INTERNATIONAL EPD SYSTEM

The materials meet requirements defined by the American standards ANSI A 137.3: July 2022, ANSI A326.3-
2021 and ASTM Section 15 Volume 15.02, reported below.

Below is a brief description of the production cycle:

Receiving Raw Materials: The mineral raw materials and surface treatment components arrive at
the manufacturing facility and are appropriately stored. Each raw material plays a specific role in
the ceramic body: clay acts as a plasticizer, sand provides sfructure, and feldspar serves as a flux
fo promote virification.

Technical Standard or Value Required Average Values
Properties Measuring Method alue Require of Production Grinding: The pre-mixed raw materials are precisely dosed into continuous mills and turbo dissolvers
according fo the production recipe. During this crucial sfep for achieving a homogeneous mixture,
water (from wells or recycled), fluidifying agents, and grinding media (alumina balls) are added.
Water Absorption ASTM C 373-18 <0.5% <0.2% The resulting aqueous suspension, known as slurry, reaches a moisture confent of about 30%. The
process is complefed with the addition of color pigments, whose proportions vary depending on
. . . the desired ceramic product.
Thickness ASTM C 499 - 20 + 0.02 inch + 0.02 inch
Spray-drying: In this phase, the slurry is fed into steel cylinders (spray dryers) where it undergoes a
Facial Dimension ASTM C499 - 20 +0.25% + 0.25% nebulization process to form extremely fine droplets. These are insfantly exposed to hot air for rapid
drying. The result is the production of spray-dried powder, a granular mixture with a tightly controlled
moisture content, ideal for the next forming stage.
Wedging ASTM C 502 - 16 +0.25% + 0.25%
Forming: The spray-dried powders are first homogenized and screened. Then, the material is com-
D . : pacted under high pressure between two surfaces. This mechanical operation produces the socal-
ry Bond Strength ASTM C 482 -20 >150 psi > 150 psi od ” e : :
ed “green slab”, a compacted raw file that forms the base for all subsequent processing.
Breaking Strength ASTM C 1505 -20 > 175 |bf > 275 |bf Drying: The formed slab undergoes forced drying with hot air circulation, reducing residual moisture
to nearly negligible levels. This significantly increases the slab’s mechanical strength, preparing it for
) surface treatments and the application of aesthefic properties.
Modulus of Rupture ASTM C 1505 -20 > 6000 psi > 7400 psi
Surface Applications: The desired final aesthetic effect is achieved through various finishing techni-
Deep Abrasion Resistance ASTM C 1243 <175 mm? <140 mm? ques. One of the main methods used to apply the design is via advanced digital printing systems.

Frost Resistance

Chemical Resistance

Stain Resistance

Fire Resistance

ASTM C 1026 - 13
(2018)

ASTM C 650 - 20

ASTM C 1378 - 20

ASTM E84

No sample must show

alterations to surface

Range A / E

Range A / E

Class A

PORCELAIN STONEWARE CERAMIC SLABS = é mm | Crossville Plant, TN - U.S.A.

No evidence of
damage

Class A

Class A

Al Al

Firing: The dried slab is infroduced into kilns where it undergoes a complex thermal cycle including
preheating, firing, and cooling. The primary goal is to consolidate the material, imparting it with the
required mechanical strength, chemicalphysical resistance, and inertness for its infended applica-
fions. The final characteristics of the product are determined by the duration and peak femperature
reached during these phases.

Lapping / Polishing: These are optional rotary mechanical abrasion processes aimed at selectively
removing the slab’s surface layer. They are used to achieve a specific gloss level and high-end
aesthetic finish.

Cutting: This operation is essential for converting large slabs info specific market formats. Standard
cutting can be supplemented or replaced, depending on requirements, with optional waterjet cutting
technology.

Selection, packaging, storage, and shipping: Selection takes place on dedicated automated lines
where strict dimensional and quality checks are performed. Approved slabs are then packed in
crates, pallets, and/or Adrames, and sealed with strefch film for packaging. The finished, packaged
product is then ready for storage and subsequent shipment to the end user via trucks or containers.

13



qumvm EPD

INTERNATIONAL EPD SYSTEM

CONTENT DECLARATION

The mass (weight) of one unit of a product, as purchased or per declared unit:
The 6 mm slab has a weight of 14.11 kg per square meter.

Content of the product in the form of a list of materials and substances, and their mass:

Mineral Part
e

Application

Whitening Agent

The mass and the content of distribution and/or consumer packaging:

Weight. % Biogenic carbon
Packaging materials content.

kgC/kg

Polyethylene film

1 kg biogenic carbon in the product/packaging is equivalent to the uptake of 44,/12 kg of CO,,.

Information on the environmental and hazardous/toxic properties of a substances contained
in the product:

Porcelain sfoneware slabs are free of Substances of Very High Concern (SYHC) included in the
ECHA Candidate Llist, at concentrations equal to or greater than 0.1% (by mass).




Functional Unit

Reference Service Life

(RSL)

Time
Representativeness

Database and LCA
software

System Boundaries

qumvm EPD

INTERNATIONAL EPD SYSTEM

Coverage of 1 m? of flooring in buildings for residential and
commercial use for a duration of over 50 years.
Conversion Factor: 14.11kg/m?

A service life of 50 years has been considered, although the

actual lifespan of the tiles is generally longer. The environmental
performance results refer fo the service life of the tile, including
phase B2 — Maintenance, which is based on a 50year service life.

Primary data relating to the production facilities refer to

the year 2024.

Ecoinvent 3.11 and Simapro 10.2.0.1

From cradle to grave and module D (A+B+C+D)

Auxiliary materials, surface application materials, energy
consumption, waste, onospheric emissions, and fugifive
emissions were allocated based on mass.

Allocations

In accordance with EN 15084, a minimum of 95% of the total
mass and energy flows per module has been included

Cut-off

Crossville Site:

Renewable sources: 9.1%, fossil fuels: 58.1%, nuclear: 32.8%
Energy mixed based on US EPA data for Tennessee

0.49 kg CO, eq/kWh

Processes found to be not significant with respect to overall
environmental performance were excluded.

Electric Mix
(Module A3)

In particular, the following items were excluded from the
analysis, in accordance with the reference PCR:
Business travel and employee commuting

-Construction and maintenance of production focilifies.

Exclusions

Representativeness, quality and selection of data:

For the manufacturing stage and part of the consfruction stage (modules A1-A3), sitespecific data were
used, collected directly from the production facility in Crossville. In the absence of specific data, generic
data from infernationally recognized databases were ufilized, particularly Ecoinvent v. 3.11, 2025.

The Crossville site is the sole production unit considered for all studied products and is, therefore, deemed
fully representative in ferms of technology.

The end-oflife stage (C) of the Environmental Product Declaration (EPD) faithfully reflects the geographical
area taken info consideration. Conversely, the use stage (B) is based on European scenarios, considered
a valid approximation for the specific context.

In terms of the quality of the background data, as assessed according to the EN 15804:2012+A2:2019
standard, Annex E, E2: the temporal, geographical, and technological representativeness was predo-
minantly classified as good.




ENVIRONMENTAL PRODUCT DECLARATION | Stonepeak Ceramics

FLOW DIAGRAM OF THE PRODUCTION PROCESS

Mineral raw
materials

1
Raw material
reception

3
Spray-drying

Internal recovery

PORCELAIN STONEWARE CERAMIC SLABS = é mm | Crossville Plant, TN - U.S.A.

4

Forming

05 LCA INFORMATION

Applications

preparation

6
Superficial
applications

7A
Polishing/
Lapping

8
Sorting

9
Packaging

anmm EPD

INTERNATIONAL EPD SYSTEM

10
Storage
and shipping

19



ENVIRONMENTAL PRODUCT DECLARATION | Stonepeak Ceramics

05 LCA INFORMATION

DECLARED MODULES, GEOGRAPHICAL REPRESENTATION, DATA VARIATION

Modules declared, geographical scope, share of primary data (in GWP-GHG results)
and data variation (in GWP-GHG results):

anmvm EPD

INTERNATIONAL EPD SYSTEM

Raw materials supply

Transport

Manufacturing

Transport

Construction installation
Use
Maintenance

Repair
Replacement

Refurbishment

Operational energy use

Operational water use

De-cnstruction demolition

Transport

Wiaste processing

Disposal

Declared modules

Share of Primary
Data

X = Module Declared: ND = Module not declared

PORCELAIN STONEWARE CERAMIC SLABS = 6 mm | Crossville Plant, TN - U.S.A.

Variation - Sites %

0%

- recovery

Reuse
Recycling - potential

X

21



ENVIRONMENTAL PRODUCT DECLARATION | Stonepeak Ceramics o _EPD
NORTH AMERICA

05 LCA INFORMATION INTERNATIONAL EPD SYSTEM

DECLARED MODULES, GEOGRAPHICAL REPRESENTATION, DATA VARIATION

The share of primary data is calculated based on GVWP-GHG results. It is a simplified indicator
for data quality that supports the use of more primary data fo increase the representativeness of
and comparability between EPDs. Note that the indicafor does not capture all relevant aspects
of data quality and is not comparable across product categories.

PORCELAIN STONEWARE CERAMIC SLABS = 6 mm | Crossville Plant, TN - U.S.A. 23



ENVIRONMENTAL PRODUCT DECLARATION | Stonepeak Ceramics

Al - Raw materials

For the production of 1 m? of Stonepeak ceramic tile, mineral raw materials, surface appli-
cation materials, and auxiliary materials are used. The porcelain stoneware slabs are main-
ly composed of mineral raw materials sourced both from quarries and recycled materials
(mostly pre-consumer), including ceramic and sanitaryware waste. This module includes the
processes of exiraction, selection, and grinding of natural and secondary raw materials,
as well as the production of surface application and auxiliary materials required during the
production cycle. Quantities refer to the production of 1 m? of finished product.

A2 - Transfer of Raw Materials

This module defines the inbound logistics for the Stonepeak production site, covering the
fransport (by sea, road, and rail) of mineral raw materials, surface application raw materi-
als, auxiliary materials, and packaging.

A3 - Manufacturing

This module covers all production and management phases associated with the site under
examination: the manufacturing of the ceramic slab, the production of packaging and aux-
iliary materials, and the operations related to the transport and freatment of the generated
waste.

A4 - Transport to the Construction Site
Stonepeak primarily sells its products within the American territory. For the transport phase (A4),

the company’s ferritorial specificity was prioritized, deviating from the average scenarios provi-
ded by the UNI'EN 17160 standard.The following table illustrates the specific fransport scena-

rios for the production site under study.

Parameter Unit per 1 m?

Fuel tvpe and Truck: Diesel; 0,037468754 kg diesel /tkm
. tynr'n) tion | Ship: Heavy Fuel; 0,00252 kg Heavy Fuel/tkm
consumptio Airplane: Kerosene; 0,20100 Kg Kerosene/tkm

Road distance - (truck with 16-32 tons capacity): 1516 km
Distance Ship distance: 12 km
Airplane distance: @ km

Cg!oacity Ecoinvent 3.1'1
utilization
Weight of
Transported 15.61 kg/m?2
Materials

PORCELAIN STONEWARE CERAMIC SLABS = é mm | Crossville Plant, TN - U.S.A.

LCA INFORMATION

A5 - Installation

FRTHANM EPD

INTERNATIONAL EPD SYSTEM

The installation phase includes the activities related to the product's installation, including the
end-ofife management of packaging waste and ifs fransportation fo the disposal site.

For the transport of waste from the construction site to the disposal site, a distance of 50 km
was considered, including the return frip.The scenarios shown in the following table are based

on average values reported in the EN 17160:2019 standard.

Parameter

Unit per 1 m?

Complementary
materials for
installation:

Cement adhesive — Large format files: 4.5 kg/m?

Water Consumption

The installation process does not require water use

Consumption of other
resources:

The installation process does not require use of other resources

Quantitative
description of energy
type and consumption
during installation
phase:

The installation process does not involve energy consumption

Waste produced
during product
installation phase:

Packaging waste:
Wood: 1.44 kg/m?
Cardboard: 0.05 kg/m?
PE Film: 0.01 kg/m?

Output material flows
from waste treatment
during installation
phase:

Wood: 36.1% recycling, 30% energy recovery, 33.9% landfill

Cardboard: 84.6% recycling, 8.3% energy recovery, 7.1%
landifl

PE Film: 37.2% recycling, 31.5% energy recovery, 31.3% landifll

Direct emissions to air,
water, soil:

The installation process does not generate emissions to air, water,
or soll

25



ENVIRONMENTAL PRODUCT DECLARATION | Stonepeak Ceramics

B1 - Use

In compliance with the requirements of the EN 17160:2019 standard (Product Category Rules
for ceramic files), the environmental impacts generated during the product's use phase were
considered sufficiently low and therefore excluded from the analysis.

B2 - Maintenance

Meodule B2 includes the environmental impacts resulting from the cleaning of ceramic slabs,
with frequency and methods varying depending on the type of use (residential, commercial,
healthcare).

The reference scenario is based on average data from the EN 17160:2019 standard.
The declared environmental values for this phase refer to a usage period of 50 years (RSL).

Parameter Unit per 1 m?

Scenario for the maintenance of ceramic floors

Maintenance process [EN 17160:2019)

Defergent:

[(52 weeks/year] / 2 (detergent use every 2 weeks)] * 50
Maintenance cycle years (RSL)

Water consumption:

52 weeks/year * 50 years (RSL)

Complementary materials | Defergent: O.134 ml every 2 weeks
for maintenance: Water consumption: 0.1 | once a week

Waste materials produced

. : Not relevant
during maintenance phase:

Net freshwater
consumption during 0.1 1/week
maintenance phase:

Energy Consumption

During Maintenance No energy input during the maintenance phase

Direct Emissions to air, The mainfenance process does not generate emissions to
water, soil: air, water, or soil

Energy input during

B No energy input during maintenance
maintenance gy np 9

B3 — Repair
In accordance with the EN 17160:2019 standard, ceramic files do not require repair interventions
during their service life. Therefore, no environmental impact is declared for this phase.

PORCELAIN STONEWARE CERAMIC SLABS = é mm | Crossville Plant, TN - U.S.A.

LCA INFORMATION Il .
NORTH AMERICA E P D

INTERNATIONAL EPD SYSTEM

B4 — Replacement

Ceramic files rarely require replacement during the use phase. Therefore, in line with
EN 17160:2019, the environmental impacts associated with this phase are considered
negligible and have been excluded from the analysis.

B5 — Refurbishment

In compliance with the requirements of the EN 17160:2019 standard, ceramic tiles do not
require any refurbishment activities during the use phase. Consequently, no environmental
impacts are declared for this module.

B6 and B7 — Energy and Water Consumption

In accordance with the requirements of the EN 17160:2019 standard, the environmental
impacts associated with energy and water consumption in phases B6 and B7 are not
considered applicable to ceramic products and are therefore excluded from the analysis.

C1 - Dismantling and Demolition

In compliance with the requirements of the EN 17160:2019 standard (Product category rules
for ceramic tiles), the environmental impacts arising from dismantling and demolition operations
of the product are considered very low and have therefore been excluded from the analysis.

C2 - Transport of Demolition Waste

This module includes the transport of the demolished file to a recycling or disposal facility. For
the calculation of emissions and consumption, a distance of 40 km from the construction site fo
the treatment facility has been considered, including the return frip.

C3 - Treatment of Waste for Reuse, Recovery, and/or Recycling

The environmental impact assessment related fo the reuse (C3) and end-of-ife recovery phases
of the ceramic tile was carried out referring fo the sector EPD developed for products manufac-
tured in North America. Consequently, and in line with conservative assumptions, the amount
of material destined for recovery or reuse after demolition is considered negligible, assuming
that the material is primarily sent to landfill (C4).

C4 - Disposal

The environmental impact assessment associated with the end-oflife disposal phase of the
product is based on the sector EPD for ceramic products made in North America. The applied
scenario assumes complete disposal of the ceramic tile and its cement adhesive in landfill.

Considering that the end-oflife scenario for the ceramic file is direct disposal in specialized inert
material landfills, the potential for recovery and reuse is absent. Consequently, the environmental
benefit accounted for in Module D is zero.

27



qumvm EPD

INTERNATIONAL EPD SYSTEM

MANDATORY IMPACT CATEGORY INDICATORS ACCORDING TO EN 15804 - 6 mm

ADPmin&met? | kg Sbeq | 5.14E05 | 1.57E05 | 3.21E06 | 0.00E+00 | 7.41E06 | 8.62E07 | 0.00E+00 | 1.70E-07 | 0.00E+00

m®.depriv. | 4.19E+00 | 3.78E-01 0.00E+00 2.07E02 | 0.00E+00 0.00E+00

GWP-fossil = Global Warming Potential fossil fuels; GWP-biogenic = Global VWarming Potential biogenic; GWP-luluc =
Clobal Warming Potential land use and land use change; ODP = Deplefion potential of the stratospheric ozone layer; AP

= Acidification potential, Accumulated Exceedance; EP-freshwater = Eutrophication potential, fraction of nutrients reaching
freshwater end compartment; EP-marine = Eutrophication potential, fraction of nutrients reaching marine end compartment;
EP-terrestrial = Eutrophication potential, Accumulated Exceedance; POCP = Formation potential of fropospheric ozone;
ADP-minerals&metals = Abiotic depletion potential for nondossil resources; ADP-fossil = Abiotic depletion for fossil resources
potential;, WDP = Water (user] deprivation potential, deprivation-weighted water consumption

* Disclaimer: The resulls of this environmental impact indicator shall be used with care as the uncertainties on these results are
high or as there is limited experienced with the indicator.

The estimated impact results are only relative statements, which do not indicate the endpoints of the impact categories, exceeding
threshold values, safety margins and/or risks. The results of the end-oflife stage (modules C1-C4) should be considered when
using the results of the product stage (modules AT-A3).




ENVIRONMENTAL PRODUCT DECLARATION | Stonepeak Ceramics

ADDITIONAL MANDATORY IMPACT CATEGORY INDICATORS - 6 mm

GWP-GHG' kg CO, eq. | 1.54E+01 | 4.90E+00 | 1.54E+00 | 0.00E+00 | Q.12E-01 | 2.64E-01 | 0.00E+00 | 1.17E01 | 0.00E+00

RESOURCE USE INDICATORS - 6 mm

PERE M 2.28E+01 | 9.24E-01 | 1.02E+00 | 0.00E+00 | 3.65E-00 | 5.06E-02 | 0.00E+00 | 2.66E-02 | 0.00E+00

PERT M 4.85E+01 | 9.24E01 | 1.02E+01 | 0.00E+00 | 3.65E00 | 5.06E-02 | 0.00E+00 | 2.66E-02 | 0.00E+00

PENRM M 8.14E+00 | 0.00E+00 | 0.00E+01 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
SM Kg 1.40E-01 | 2.93E02 | 2.71£03 | 0.00E+00 | 1.28E-02 | 1.60E-03 | 0.00E+00 | 7.09E-04 | 0.00E+00

NRSF M 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00

PERE = Use of renewable primary energy excluding renewable primary energy resources used as raw materials; PERM =
Use of renewable primary energy resources used as raw materials; PERT = Tofal use of renewable primary energy resources;
PENRE = Use of nonrenewable primary energy excluding nonrenewable primary energy resources used as raw materials;
PENRM = Use of nonrenewable primary energy resources used as raw materials; PENRT = Total use of nonrenewable
primary energy resources; SM = Use of secondary material; RM: Use of recycled materials and by-products (according to
Green Building Protocols as LEED and BREEAM); RSF = Use of renewable secondary fuels; NRSF = Use of non-renewable

secondary fuels; FW = Use of net fresh water

1: This indicafor accounts for all greenhouse gases except biogenic carbon dioxide uptake and emissions and biogenic carbon
sfored in the product. As such, the indicator is identical to GVWP-otal except that the CF for biogenic CO, is set to zero.

PORCELAIN STONEWARE CERAMIC SLABS = 6 mm | Crossville Plant, TN - U.S.A.

anmvm EPD

06 ENVIRONMENTAL PERFORMACE INTERNATIONAL EPD SYSTEM

WASTE INDICATORS - 6 mm

].02E+OO 1.52E01 | 6.11802 | 0.00E+00 | 9.14E02 | 8.34E-03 | 0.00E+00 | 3.25E03 | 0.00E+00

RW kg 5.70E04 | 1.32E05 | 5.76E06 | 0.00E+00 | 1.41E05 | 7.20E07 | 0.00E+00 | 4.16E-07 | 0.00E+00

HW = Hazardous waste disposed; NHW = Non-hazardous waste disposed; RW = Radioactive waste disposed

OUTPUT FLOW INDICATORS - 6 mm

0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00

4.43E06 0.00E+00 2.43E07 | 0.00E+00 | 5.49E-08 | 0.00E+00

EE-T M 3.92E02 | 9.86E03 | 9.50E03 | 0.00E+00 | 2.25E-02 | 5.42E04 | 0.00E+00 | 9.82E-05 | 0.00E+00

REUSE = Components for reuse; RECYCLE = Materials for recycling; EN-REC = Materials for Energy Recovery; EE-E= Exporfed
Energy Electricity; EE-T= Exported Thermal Energy

31



ABBREVIATIONS

General Abbreviations

EN

EF

Definition

European Norm (Standard)

Environmental Footprint

General Programme Instructions

Infernational Organization for Standardization

European Comittee for Standardization

Corlocation Centre

Central Product Classification

Clobal Harmonized System of Classification and Labeling
of Chemicals

Clobal Reporting Initiative

Substances of Very High Concern

Not Declared

qumvm EPD

INTERNATIONAL EPD SYSTEM




qumvm EPD

INTERNATIONAL EPD SYSTEM

REFERENCES

- International EPDR® System - General Programme Instructions, Version 5.0.1

- International EPDR® System - PCR 2019:14 Construction Products, Versione 2.0. 1

- International EPDR® System - C-PCR-002 Ceramic tiles (EN 17160:2019), Version 2019-12-20
-EN 15804:2012+A2:2019 Sustainability of Construction Works

-EN 17160:2019 Product Category Rules for Ceramic Tiles

-1SO 14020:2000 Environmental Labels and Declarations-General Principles

-1SO 14025:2010 Environmental Labels and Declarations-Type lll Environmental Declarations-
Principles and Procedures

-1ISO 14040:2006 Environmental Managementlife Cycle Assessment-Principles and Framework

-1SO 14044:2018 Environmental Managementlife Cycle Assessment Requirements and Guidelines

- Report LCA “Report LCA - Stonepeak”, Rev. 1, November 2025




qumvm EPD

INTERNATIONAL EPD SYSTEM

VERSION HISTORY
Original Version of the EPD, 2025-11-28




STONEPEAK

HIGH TECH PORCELAIN

A BRAND OF s ICREllfAMICA

GROUP

stonepeakceramics.com



